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Questions

Which of the following is perfect square.

The difference betwene approximated value and actual accurate value is caled

Round 0.0234589 to the 4 significant fiqures.

Irrational numbers are non-terminating and ..... numbers

Real number is.

The height of K-2 IS METERS IS.

The cube of a negative numebr is.

Cube of an odd number is.

Cube of an even number is.

The numerator is 1.4 is

Answers Choice

A

DOU> DOWr DOW> DO

Round

. Significant figure
Appoximation error
Estimated value

0.02346
0.02345
2346

0.02345

. Rational Number
. Non-Recunting

. Recourring

. Decimal

. difference of rational numbers and

irrational numbers

B

. Intersection of rational number

sand irrational numbers

C

. Union of rational numbers and

irrational numbers

]

com»

DOW>r DOWr DOUF DO

BWN —

. Complete set of natural numbers

1185
1186
8511
8611

. Negative
Positive
Zero

1

Even
Odd

Zero
One

Even
Odd
Zero
. One



